

■ 帯分数がはいったひき算を、仮分数に直さず、そのままときましょう。

$$\textcircled{1} \quad 3\frac{7}{8} - 1\frac{7}{8} = \square$$

$$\textcircled{2} \quad 3\frac{2}{9} - \frac{2}{9} = \square$$

$$\textcircled{3} \quad 3\frac{1}{2} - 2\frac{1}{2} = \square$$

$$\textcircled{4} \quad 3\frac{1}{5} - 1\frac{3}{5} = \square$$

$$\textcircled{5} \quad 2\frac{1}{3} - 1\frac{2}{3} = \square$$

$$\textcircled{6} \quad 3 - 1\frac{2}{3} = \square$$

$$\textcircled{7} \quad 1\frac{3}{4} - 1 = \square$$

$$\textcircled{8} \quad 2 - 1\frac{7}{8} = \square$$

$$\textcircled{9} \quad 2\frac{8}{10} - 1\frac{2}{10} = \square$$

$$\textcircled{10} \quad 1\frac{1}{2} - 1\frac{1}{2} = \square$$

$$\textcircled{11} \quad 3 - 2\frac{3}{6} = \square$$

$$\textcircled{12} \quad 2\frac{1}{7} - 1 = \square$$

■ 帯分数がはいったひき算を、仮分数に直さず、そのままときましょう。

$$\textcircled{1} \quad 3\frac{7}{8} - 1\frac{7}{8} = \boxed{2}$$

$$\textcircled{2} \quad 3\frac{2}{9} - \frac{2}{9} = \boxed{3}$$

$$\textcircled{3} \quad 3\frac{1}{2} - 2\frac{1}{2} = \boxed{1}$$

$$\textcircled{4} \quad 3\frac{1}{5} - 1\frac{3}{5} = \boxed{1\frac{3}{5}}$$

$$\textcircled{5} \quad 2\frac{1}{3} - 1\frac{2}{3} = \boxed{\frac{2}{3}}$$

$$\textcircled{6} \quad 3 - 1\frac{2}{3} = \boxed{1\frac{1}{3}}$$

$$\textcircled{7} \quad 1\frac{3}{4} - 1 = \boxed{\frac{3}{4}}$$

$$\textcircled{8} \quad 2 - 1\frac{7}{8} = \boxed{\frac{1}{8}}$$

$$\textcircled{9} \quad 2\frac{8}{10} - 1\frac{2}{10} = \boxed{1\frac{6}{10}}$$

$$\textcircled{10} \quad 1\frac{1}{2} - 1\frac{1}{2} = \boxed{0}$$

$$\textcircled{11} \quad 3 - 2\frac{3}{6} = \boxed{\frac{3}{6}}$$

$$\textcircled{12} \quad 2\frac{1}{7} - 1 = \boxed{1\frac{1}{7}}$$